2018/09/02 C#k 7<% RHBUHF—F

2 3 4 6 AF #HIFE

(=R

_.
S
jpvinvinvine) 0 avinvinvinvinvl O

—_

—_
w
o
TUTUTUTUTUUTO

—_ —_
OO OO WPAROPRPROCONCTI—OJOWWODNOCTOTTIWRORPRPOOOIIOTWWLIOOOUTIOUIWOOOOR,OCOONIJOORRD
—_

— )
~ [3X)
U WU v

($n
»
U UO

& i
B iz

6 20 P
17 14 P

24 kL BHEFHFERAR—VYST VD REFERR
& 5 mAES S
B ! CHh 7% RBUH—F
H f+ 2018/09/02
sorprdrk [ B 1 PIE ] wkkkkokk
No. 1
E F 4 WQ WQ wQ wa wa
1 Kk BBE * kk ok kk
2 B i * ok kk
3D [Eif *k % kk kk %
4 #E+ =4 * kk ok ok kk
b %% * ok okk bk X
6 F N— % kk okk *k
7 MiE HX Kk ok $ok ok
8 BB =
9 IESF FE *k kk kk kk ok
10 )i —=—= *k * *
12 1Z#0 = % kk kk okk Kk
13 A BRI * kk ok kk kk
14 BRIE IE *k %k k  k k
15 KT & k% kk kK koK
16 NG E  fE— ok *
17 FIER HEXK ok ok ook
19 tA RBE * kK kk dok sk
20 AY) E— * ok okk *
21 EH {HIE
22 K¥ 1E# Kk ok ok k%
23 515 KiE *k kk ok kk
24 B HIX * * ok
25 B B * % *
26 FHIL = *k kk ok kk
271 58 = sk sk kk kk kek
28 &R 1EGREM H Kk ko Kk
29 LA — % %k Rk
30 & Al )k kk okk okk kk
31 Ml &= ¥k okk kk ok
N2 EKE B sk kk kk Kk Fok
33 8Bl B * ok ok %
34 BfT & kK ok
35 HE FHiE *k kok kk okk Kk
36 /MIE  FR * *k K
37 1EA  RER % ¥
39 ;HE AE *k * *k
40 £5 HE— *k kk kk kk ok
4 R¥ A * ok ok Kk
42 &F FER *k Kk * %
43 EEL % *k Kk *k Kk
4 5% S x * x
45 thR 4 o x
46 EF £FT *k ok Rk ok odok
47 1L B * ok ok Hok
48 B3O K% % kk kk okk Kk
49 F)Il FX *
50 #4& = * %k k%
h2 ¥iE HEE *k ok kk ok
53 FJIl BHAE * kk kk kk k
b5 {FiE FE *k ok okk okk ok
56 {£fE I x i
57 k"R HT|H *k ok kk Kk koK
8 K& HE *  kk *
60 P& = * ok ok
62 BREAT R * ok kk %%
63 Mg 1= ok Kk Ok Kk kK
64 XE *
65 Fgith  JLiE * kk kk kk %
66 K& B% % kk kk okk Kk
TUR% = 6
sordkrdrk [ B2 FE ] wkkkkokk
No. 1 2 3 4 6
E F 4 WQ WQ wQ wa wa
1 Kk BBE *k kk ko
3 BT R *k *  kk kk
4 *F 24 % kk ok okk

6 20 P



b %k = * * ok 4 31
6 B #H— *kk ok k kk ] 14 P
7 iE &Ex *k kk k kk kk O 5P
0 IEsp FE Rk Kk Rk KK 8 11P
12 -f0 BE Kk kk *k 6 20 P
13 #HE  BEF * okk kk kk ] 14 P
14 BE[E IF Kk * *k b5 24 P
15 AT ZH&H H% ok kokk k8 11 P
19 tA BE * kk kk kk kk 9 H P
22 AFf IE# dok %ok 4 31
23 B35 KB * Kk Rk kK 7 14 P
26 I == * Kk 3 35
27 @ = fok ok bk ok kk 10 1 P
28 =B A% % Kk kk kk xx O H P
29 IUA — * %k kk 5 24 P
30 K% Al *k 0k x kx| 14 P
31 M = fok ok bk ok kk 10 1 P
32 BE B sk kk %ok kk k9 5P
35 HE FEiE ®k ok ok kk kk 10 1 P
40 K ifE— sk ok dok kk ek 10 1 P
42 FHE EFER * * ok % 4 31
43 EE & % * % b5 24P
16 BFH £E *k k k% 5 24P
47 21l B * * 2 36
48 BiO  Ki¥ xRk % = 6 20 P
52 KB WH * xxx 4 31
53 &Il ER{E ¥ kk dkk kk dk Q9 H P
55 Bk FE *k *k %k xx  § 11 P
57 k2K &R *k Rk ok kX 7 14P
62 BEF ik *k ok kk kk kk O H P
63 FiE 1= * %k *ok 5 24P
65 ZFith HE KK KK * b5 24P
66 K& B x ok ok kk b 24P
tUm% = 5
sorpordork [ BRIRPIE ] wkkkkokk
No. 1 2 3 4 6 &Ft HFE
E F A WQ WQ wQ wo wa IE L
1 KR HE * 127
3 ED it *% Kok 4 11P
4 HF =4 * % %k 4 11 P
6 R #B— *ok 3 15
7 iE &Ex ¥k x % *xx %k 8 3P
9 IBF HE * ok 2 24
12 =0 = % * *k 5 8P
13 #E B *%k = 4 11 P
14 BR IE * 127
15 AT ZHH * *k kk xx ] 4P
19 FE BE * *k 3 15
23 B8 KiE % Kk *k 6 5P
271 E@H = %k kk kk x %k 9 2P
28 &R IEAEM 0 30
29 IUA — $ok 2 24
30 Fim [l * ok * 3 15
31 Mk =& x Kk 3 15
N2 BE B sk dok dok 6 5P
35 HF FEiE ®k ok ok kk kk 10 1 P
40 £5K — * * *x 3 15
43 EE & *k Rk K 5 8P
46 BH 2= * % %k x 5 8P
48 BIO K% *k *k 4 11 P
53 &/JI| BRtE * kdkkk 6 5P
b5 1Rk FIE * * 2 24
57 EA K HRH * *¥* 3 15
62 BEAT SR * o 3 15
63 Mg = * ok 3 15
65 FHith KfE * ko K 3 15
66 K& B x 121
=% = 4
stk [ ZEIRRE ] sekkkokkk
No. 1 2 3 4 6 & HFE
B F A WQ WQ wQ wo wa NE sz
3 iED Em ok ok 4 5
4 HE =4 **k 212
7 tiE "X * 114
12 -0 BE Kk *k 4 5



13 #HE BF *ok xk 4 5

15 KT &% ®k kk 4 b

23 15 KiE *k kk kk kok 8 2P

21 & iz sk xk x *x x | 3P

2 HE & * ok 3 10

35 HFLE FHiE k% ok Kk kk ok 9 1P

43 EE & *ok 2 12

46 EFH =F kK dok 4 5

48 B0 Ki¥ *  kk #x 5 4P

53 [l EAtE * KK 3 10

TtUI=# = 5

sk [ BIEREE ] ekkkkkk

NO. E F 4 1 2 3 4 6 |BEf
7 H Waltz

3 B PR 5 3 3 1 4 3.0

12 %0 BGE 4 1 5 3 1 20

13 #HE B 3 2 4 4 3 4.0

15 KT =H®E 2 5 2 2 2 1.0

46 EF £F 1 4 1 5 5 50
& H Quick step

3 ED REf 5 5 5 2 4 50

12 %0 BGE 4 1 4 4 1 3.0

13 #H &?WJ 2 3 1 3 3 20

15 ZI_S'F Eid 1 2 3 1 2 1.0

46 EF €£F 3 4 2 5 5 4.0
B RUR RS R IE R

No. # F £ W Q &&t IEfs

3 ED REf 3.0 5.0 80 4.0

12 %0 BGE 2.0 3.0 50 20

13 #E\E B 40 2.0 6.0 3.0

15 ZI_S'F Eid 1.0 1.0 2.0 1.0

46 EF £F 50 4.0 9.0 5.0
sordorkork [ R B ] kekokkokk

NO. 2 F 4 1 2 3 4 6 |BEf
8 H Waltz

12 {Z#n0 E&FE\ 5 3 5 6 1 50

15 KT ZH&E 4 5 6 4 2 4.0

23 75 7(?;'@ 3 4 3 2 6 3.0

21 & 1 2 2 3 4 20

35 HE 7:‘i£$ 2 1 1 1 5 1.0

48 BHO KiF 6 6 4 5 3 6.0
7 B Quick step

12 {Z#n0 E&,n.\ 5 3 3 5 1 20

15 KT ZH&HE 4 5 5 2 2 50

23 Epiy; KiE 3 4 2 3 6 30

21 & S 1 2 6 4 5 40

3B HE FHiE 2 1 1 1 4 1.0

48 BHO KiF 6 6 4 6 3 6.0
HWERER

No. # F £ W Q &&t IEfs

12 {Z#0 L:tﬂl,%'\ 50 20 7.0 4.0

15 KT #H&HE 4.0 50 9.0 5.0

23 F5i5 DS?L'E 3.0 3.0 6.0 3.0

21 & = 2.0 40 6.0 2.0

35 HE FiE 1.0 1.0 2.0 1.0

48 B0 KiE 6.0 6.0 12.0 6.0

O WN —
n)|
H
i S Im 6B
AW |
._H



sorporkork [ BB

E
[ER: e

OO0 RARARARMRADPDDOOOWOWWWWWWNNNNNNNNNNASA A ddddd

=

OOPAPWN-0O0CONOPRLPWON-0O0CONONPLPWON-0O0CONOTPLPWON—-0O0CONOAPLPWON—-0O0CONOAPLPWON—=0OCONOOPRWON=

BRES

11020162
11030205
11070396
11020017
11060110
11040319
11030032
11055735
11020107
11050222
11040325
11020101
11030095
11050231
11020106
11040261
11026668
11050085
11020184
11040582
11050214
11033662
11020223
11050300
11040218
11020204
11030294
11050294
11040569
11026866
11040534
11045711
11050382
11030282
11020228
11064271
11020126
11036632
11050201
11040563
11020151
11030211
11050399
11040036
11070387
11030254
11020192
11020129
11055716
11040027
11040289
11020180
11030278
11050286
11040415
11020029
11030228
11050237
11020061
11030165
11040071
11030109
11044675
11045719
11040074
11046641

FEER ] kwkrkk

#

0000000000000 000000TN000O0000000TON00000000000TO000000000000TOO00000

B F K

Ak BE
=Rl
&
HE
®k
s
Ay B
B ZHE
BN —==
INFOER EER
ZH BUE
fHH  F
R IE
AT HFE
INFE fE—
fEp EK
ZER

£k
RE
$_

tH

E 4]

EH HIE
AN IEM#
7i5  KiE
By Ak
Bis Al
¥ &

=

h

[ 3 2 Sk
Wi 55§ Dt ko E

F
EREM

R a2 EE 3 e ST
HRH H)ﬁfl\)}Htf\:Tl)LihNhH

= BilFENND
Y SHEE DY S KT
Tt 2 g T
HNHDE N <=
+ H

%
..H
m
._H

PHER R dm it
ZHIHHE S D

>+
oe2t
i3t
..N

O ¥R E
A
cu
._H

c
RS
W

I 2 IF >k DH 3 S Sy >+ S
HaSRID?
]
..H

B

=
[

B B B B B B B e B B e

B B #
BB RFE
=i 1FE
B HERRS
B HERBE
=i 2%&
B ORTE
BB AERBE
=i 1%E
BB ORFE
=i 1%E
% B
B HEar
BB AERB
& oS Pt

Sl HHOHFHRHHHHH  HH s HHHFHHHH 0 HHH O HHHH HH0n

ok
RS TRER SN E SRR 2 W= N 2 R o S RTINS - i = SR W
TP 7 T P O T T T S5 T T T T S5 T T S T T T T 2 T T 50 T T P T T T 2 T T o T T e T

HHHHH  H HHHH

W Q

2.0

5.0

3.0 3.0
2.0 4.0

1.0 1.0

6.0 6.0



